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1. RXoAXZEREETX. (SHK208, Af35#, B0, CHk145208 )

(1) 2a —4 (2) ab + ac

3) axr + br — cx (4) 24a — 36b — 54c

2. ROXZRBARE X (SHK30F, Afkdas B, Bi14y, Cfk13408)

(1) 2ab — 4bc (2) 6a2 — 3ab

(3) —az? — 2ax (4) a®be — a?bc? + a?b3c
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3. ROAXEREIE L. (SHK208, Ah35%, Bf#k50%, CHh14 208 )

(1) 8a — 12 (2) ac + be

(3) abc — ac — be (4) 45a — 36b + 63c¢

4. ROXEREOHEE XK. (S35 H, A58, Bfk173 208, C#k2)

(1) Tca — 14be (2) 6a? — 12abc

(3) —abx? + 2abx (4) ab?c — a?b*c? + a*b%e
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ROAXZ KB AT L. (SH20™, A#35H, Bi#ks50®, C#14 208 )

KRR - READER

JBHIE D TEDA A= Th o7 KB RIE BIDEDA A=Y T, ()NE2EZS.

(1) 2a—4

=2(a —2)

(3) axr + br — cx

=z(a+b—rc)

ROXE KB L. (S0P, Afk4as #, Bk,

(1) 2ab— 4be

= 2b(a — 2¢)
(3) —ar? — 2ax
= —ax(x + 2)

¥ ax(—x —2) TH LWL
— ZHMCHTREE O L)

(2) ab + ac

=a(b+c)

(4)  24a — 36b — b4c

=6(4a — 6b — 9¢)

C#el14340% )
(2)  6a®—3ab

= 3a(2a — b)

(4) albe — a?bc® + a2b3c

=a?bc(a — c+b)
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3. ROAXEREIE L. (SHK208, Ah35%, Bf#k50%, CHh14 208 )

(1) 8a-—12 (2)  ac+be
= 4(2a — 3) =c(a+b)

(3) abc — ac — be (4) 45a — 36b + 63c
=c(ab—a —b) =9(5a — 4b+ 7c¢)

4. ROXEREOWE L. (S35, AR, Bik13208, C#H253)

(1) Tca — 14bc (2) 6a’ — 12abc
=Tc(a — 2b) = 6a(a — 2bc)

(3) —abz? + 2abz (4)  ab?c — v + aPbe
= —abx(x — 2) = ab®c(c? — ab?c + a?)
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